CCGPS Analytic Geometry Polynomial Expressions Notes January é, 2015 (Tues)

o A is a number, a variable, or the producT of a number and one or more

vomobles with whole number exponem‘s

Examples: a. 9 - b.x . c. 7y3 _ d. Téa%b7

¢ The is the sum of the exponents of the variables in the

monomiol The degree of a nonzero cons’ron’r fermis

Examples: State the degree of each monomlal for examp!es a- d above
a b. c. d.

o A is a monomial or a sum of monomials, each

called aterm of the polynomial. A polynomial has exponents that are whole numbers (exponents
CANNOT be negative, fractions, or a variable in a polynomiall)

Examples: Tell whether or not the expression is a polynomial. If not, explain why.
1

e. 4x+2 f. -3x10+0.2 g. x2
e A polynomial with two terms is called a . Example:
e A polynomial with three ferms is called a . Example:
e The of the polynomial is the greatest degree of its terms.

¢ When a polynomial is written so that the exponents of a variable decrease from left to right, the

coefficient of the first term is called the

Rewrite the following polynomials so that the exponents decrease from left to right. Identify the degree
and the leading coefficient of the polynomiais.

h. 12x3 = 15x + 13x° degree: leading coefficient

i. -1T1c + 14c4+ 18cs degree:

leading coefficient

. 9—2x2 - - degree: leading coefficient

Reasoning: How do you find the sums and differences of polynomials?

i



Methods for adding and subiracting polynomials:
e Verlical format: Align like terms in verfical columns.
e Horizontal format: Group.like terms and simplify.

Examples:

K. (3x4—2x3+ 5x2) + (7x2+ 9x3 - 2X) I (3x2—9x) — (2x2 - 5x + &)
Vertical format: Vertical format:

m. 2(7x2—-3x+6) + (9x2 +éx—11) Coon {11+ x—- 1)~ (22 =-7x+ §)
Horizontal format: Horizontal format:

Find the sum or difference (Simplify).
o. 3(x+ 1) + (5x3 —x2 + x — 4) p. (7x3=1) = (15x3 + 4x2 - x + 3)

9. (10x=3+7x2) + (3= 2x+ 17) Fo(X2—x—3) — 4(x2 + 4x +2)

5. (6x+2) +2(2x2 - 3x +1) | b2+ 3x—1) = (22 —-x+3)



Adding and Subtracting Polynamials Homework , January 6 2015 (Tues)

Simplify each expression:

1) (26 —45) + (32 - 3x) 2) (45 + P — (P - 5x%)
3} (Ssvi + 41;} - {4}2 - 4}:4:} (1 +d5%) ( 7 }
5) 4077 + 2} + (2 + 2) 6y (=" +6x" + 10) + (65" + 1 + 50%)
4(3n” + 223) +(205° + 20) (= }+( )

D (13 -112% — 100} + (10— 57 +9%) 8) (-2~ 110 — 20} — (7® — 120 — 14



9y (~106% + 1122 — 6) + (5 + 20 — 1457 10) (“11e+95° — 9x%) {1457 + 75 + 4%)

113 (2% + 11%° =3} + (10 +11° + 23%) 12) (4% + 4% + 22} + 132 + 1027 — 26

13 (4x -4 - 13) - (-8x* -8 — ) 14 (2T +6°) + (5 + 4 + 8°)

15) 2 11? — 14+ T+ (-8 =2+ 1407} 16) (95 —5+ 507} + (1367 + 12+ 68)



__and the leading coefficient of the polvnomlals

CCGPS Analytic Geometry Polynomial Expressions Notes January §, 2015 (Tues) //(
€y

° 0/'0;”’1«/V is a number, a variable, or the producT of a number and one or more
vonables with whole number exponen’rs |

Examples: a. 9 " b. x c. 7y3 d. 1éa4b?

e The (@Z b{f@? ﬁ: monom "‘*}’Z“ is the sum of the exponents of the variables in the

monomial. The degree of a nonzero consTonT termis_Z2&€ro

Examples: State the degree of each monomlcll for examples a- d above
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a. o b. g c. D d. / d
e A lﬂb’i‘j nomi ’;"Jz is @ monomial or a sum of monomials, each

called a ferm of the polynomial. A polynomial has exponents that are whole numbers (exponents
CANNOT be negative, fractions, or a variable in a polynomiall)

Examples: Tell whether or not the expression is a polynomial. If not, explain why.
1

e. 4+ 2 f. -3x10+0.2 g. x2 4 f M
1o, e po wnt /s Xy N> export 15 & T BT
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e A polynomial with two terms is called a &/ 1 0/ &k . Example: &X Tt X
; N . ! ‘q{? <% 2.2 2,
e A polynomial with three terms is called a ﬁ,/l@ﬂﬂ/ . Example:_o&x =4
e The gred . of the polynomial is the greatest degree of its terms.

e When a polynomial is written so that the exponents of a variable decre/?se from left to right, the

- 7/
coefficient of the first term is called the /’”/Af?/!»"’ el A A
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Rewrite the following polynomials so that the exponents decrease from left to right. Identify the degree

h. 12x3—15x + 13x5 / BX - /‘Q)‘: "'/EX degree: b leading coefficien’r/3
i. -11c + 14c4+ 18c¢ , X( + /46 - //C degree: 5 leading coefficient /X
. 9—2x2 - ‘:ZX —+ » degree: A leading coefficient _ Cl

Reasoning: How do you find the sums and differences of polynomials?
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Methods for adding and subiracting polynomials:
e Vertical format: Align like terms in vertical columns.
e Horizontal format: Group like terms and simplify.

Examples:

K. (3x4—2x3 + 5x2) + (7x2+ 9x3 - 2X)
Vertical format:

. 2 3
B S R D

o

Ei«-& :/2313+ icii)):zﬂgx }

m. 2(7x2—3x+ 6} + (9x2 +é6x—11)
Horizontal format:

, , 2 -
et ~bx~+124 D +bx- 11

Find the sum or difference (Simplify).
0. 3(x+ 1)+ (5x3—x2+x—4)
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Ix+34+5x X +x =%
; e

gﬁi + 4y %
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g. {(10x=3+7x2) + (x3—-2x+ 17)

[ox=3+P x>0y 1T

A

/Mx“ﬂiﬂ"j

s. (6x +2) + 2(2x2 - 3x +1)

Lxc+Q+ T

L2,/
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[ {3x2—-9x) — (2x2 - 5x + §)
Vertical format:

2 o 7 2
B -Px =i+ 5% ~{

n. (11x2+ 6éx—1) = (22=7x+5)
Horizog’rcxl format:

, ya 2, ~
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pP. (7x3—1)—(15x3 + 4x2—x + 3)

i~/ é:{i blix- 3
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e,
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r. (xX2—x—3) - 4(x2 + 4x +2)

sCox~3 =l 1bx =¥
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t. 2+ 3x—1) = (22 =x + 3)
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Adding and Subtracting Polynomials __Homework January 6 2015 (Tues)

< Vi
Simplify each expression: L o o[,{,(“‘h ons

1) (2" —4x) + (32 - 3x) 2) (4x* + 22— (2 - 5x%)

5yt - | 7x*

3 (‘2}24 + 4%] — (4}1 — 4}:4} 4y (1 -+ 4;22} + r? — 3?22}
L 2
5 n N +3

K \3;23 + Z?z) + (?;?33 + E;z)' 6} {—ﬁg + 61 + 10} -+ (—6ﬁ§ +1 + 33?4;}

Lty

140>+ /On ~6n°+1In* D

7 (13 -117" - 100} + (10 - #° + 9m) : 8) (2 - 11 —200) - (7 — 120 — 140°

. o 3
' . L, Q’/A//’ﬁ‘ /On —
a-n}w//nzw’)‘fozs )5 o TR L



9y (~100% + 1102 — 6) + (5 + 207 — 145°) 10) (“114+ 9% — 0*) — (1457 + 7% + 4%)

e 2
— QA HNT 4130 = | -—-r/é'x_l"'«— 5“)(3“/5&

11y (2% + 117" =3} + (~10 + 1157 +20%) 12) (4% + 47 + 25} + 13 + 1022 - 2%

53, 2,
2av+ vt Qv 13 "?_X 14X 455

13) (4x 42" - 13) - (82" - 8" —x) 14) (21~ 7n® + 667 + (5 +4n + 8°)

?k”%lﬁf¢5%%3 | 5%5?ﬂ3+gﬂf§w

15) 2A-110? - 14+ 7°) +(-82° -2+ 14%%}  16) (956—5+56°) + (1367 + 12+ 68)
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